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DJB_MB - Altitude 333, Start = 67921,CH4 Div = 5.0 kg/m/hr, C2 Div = 2602 g/m/hr, WS=5.4, TURB = 2.52
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DJB_MB - Altitude 907, Start = 73965,CH4 Div = 5.7 kg/m/hr, C2 Div = 676 g/m/hr, WS=4.8, TURB = 2.38
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DJB_MB - Altitude 1515, Start = 77351,CH4 Div = 4.3 kg/m/hr, C2 Div = 416 g/m/hr, WS=5.2, TURB = 2.18
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DJB_MB - Altitude 626, Start = 83861,CH4 Div = 6.6 kg/m/hr, C2 Div = 1574 g/m/hr, WS=4.3, TURB = 1.95



0 2 4 6
CH4 Transport kg/m/hr

0

200

400

600

800

1000

1200

1400

1600

Al
tit

ud
e 

m
DJB_MB-2020-06-30



0 2 4 6
CH4 Transport kg/m/hr

0

200

400

600

800

1000

1200

1400

1600

Al
tit

ud
e 

m

500 1000 1500 2000 2500
C2H6 Transport g/m/hr

0

200

400

600

800

1000

1200

1400

1600

DJB_MB-2020-06-30


